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QUESTION 1

A customer has two sub-organizations with different domains with separate AD servers. Both Domain Controllers and
Cloud Connector are in the same subnet. The first sub-organization is currently set up to manage devices in Workspace
One UEM using Cloud Connector and a VMware Identity Manager. 

What is the VMware recommendation to set up the second sub-organization that is not set up for management with
Workspace One UEM? 

A. Use the same Cloud Connector server and set up directory services and request an additional Identity Management
Tenant 

B. Deploy Use an additional Cloud Connector server and set up directory services server and request additional Identity
Management Tenant 

C. Deploy an additional Cloud Connector Server and set up Directory services and then use the Identity Manager
Tenant currently available 

D. Use the same Cloud Connector server to set up directory services and the same Identity management tenant 

Correct Answer: C 

 

QUESTION 2

Which underlying technology does Automation in Workspace ONE Intelligence use to execute Actions? 

A. SOAP API 

B. Java 

C. REST API 

D. PowerShell 

Correct Answer: C 

 

QUESTION 3

A topology, which includes placement of Workspace ONE service applications within layered internal networks, as well
as communication workflows of requesting and receiving services, is an example of what kind of architectural design? 

A. Conceptual 

B. Logical 

C. Virtual 

D. Physical 

Correct Answer: B 
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Reference: https://techzone.vmware.com/resource/workspace-one-and-horizon-reference-architecture#sec14-sub3 

 

QUESTION 4

Which two telecom data settings can be enabled and collected by an administrator? (Choose two.) 

A. Websites visited while using cellular data 

B. The cellular data use in terms of total bytes sent and received 

C. The total voice minutes used for all cellular calls 

D. The telephone numbers dialed and received 

E. The SMS message content sent and received 

Correct Answer: BC 

 

QUESTION 5

Which two logs can be used to troubleshoot issues related to VMware Tunnel? (Choose two.) 

A. CloudConnector.log 

B. DeviceServices.log 

C. tunnel.log 

D. esmanager.log 

E. app.log 

Correct Answer: AC 
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